Lesson Plans: Nuwmeracy

Nuwwmeracy Tral

Arrange o local wolk: Let the childiven note all the examples of
numeracy ow the rowte. e.g. velhicle regustrations, rouwte nuwmbers
ow direction signg, numbers on doors, lamp colmmng and fire
hydirant plotes, numbery on adwertisements, opening ono
Covsider allowing tihe childirewn to-take pirotograpivy or video
footage. Create a numeracy "WALKABOUT" display.

Number

* Produce grapiy of fovouwrite/ least fovourite footwear.

» Conduct traffie surveys: compare results from different tumes

* ln a row of numbered. houses, can Hey work owt door
numbers wihere there U ondy a houwse name?

* Make odd and exven numbered sets from cut out footwear
pLctires Un magozines:

* Calewdate how much thelr journey to- sehool would cost using

Shapesy and Patterns



* How many different shapes and patterns can tive children
ldentify on their rowte fo- sehool? Look ot roof tiles, chimney
pots, poving, zig-zag markings, bricks, roadings, road-sugns and
markings ete. Wihich are symmetrical? Whicie tessellate?

* Drow- o pattern Hiey have seen on the rowte to- school. Get a
portner to- repeat o or dvaw- half the patterw, caw tiveiur partner
complete ?

* Create concertine folded potternsy - a lune of Uttle people
holding hands s wseful to- emplrasize tive importance of young
chilldren holding hands wiren out and abpowt: Try o repeating
sivoe, boot or foot shape.

Can they make a repeating pottern of colowrs or fastenings on
the footwear?
Measurement

Ask the childiren to- estumate the lengtiv of theiur own journey fo-
sehool using the most appropriate unit of measmrement e.g.
strides, metres or minutes. Compare longest withv shortest
Jowrneys:

Older pupily con corry out speed and distonce experuments -
estumating, recording and calewdating. (This b a good.
opportunity to- dscnss tive effects of different weatirer
conditiony on stopping distances.) A cor traveling ot 30mpiv
(51kpiv) would need. 75 feet (23 metres) to- stop, un Leal rond
and weather conditions: ln He playgrownd, ask eacie chido to-
stond wiere they tink 23 metresy Uy from a glven line.

Wihose guess (s closest? Most will underestimate. The lesson s -
"walt uwntll traffic hay passed before crossing.”



